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Statistical Technique used to Measure
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Measures of Linear Correlation @

For A Bivariate Distribution...

>, ﬂGraphical Method (Su’ﬁ“ﬁé D‘\"&GM rathed )

%#Non Graphical

-~ Karl Pearson’s Coefficient Correlation
-~ Spearman’s Rank Correlation
> Concurrent Deviations Method



Scattered Diagram Method

Points (xi, yi) are 3 |

plotted. The totality of . >, | 9 '

the points represents R 1 '
\_\\\l

scatter diagram.
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If the points plotted are concentrated from lower left
corner to upper right corner, it is positive correlation.
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. ITthe points plotted are concentrated from upper left
— corner to lower right corner, it is negative ve correlation.
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If the points are scattered without any

— pattern the variables are uncorrelated
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Find Correlation using graphically
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-~ Find Karl Pearson Correlation between x and y
-. x: 1 y 3 4 5
Y: 2
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i x=12 2.2
Y: 74 6.4
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Find Karl Pearson Correlation between x and y
3.2

5.4







Find Karl Pearson Correlation between x and y
x:2 4 6 3
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— The@oefﬁcient of correlation]between two variables X and
Y is 0.8 and their covariance is 20. If the variance of X series
* is 16, find the standard deviation of Y series.
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If the Covariance between x and y is 20

Variance of x is 16, Then what will be variance of Y
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No. of observations
Arithmetic mean

Standard deviation

X series

Calculate the coefficient of correlation between X and Y series from the following data:

Y series
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.+ Find the coefficient of correlation between X and Y for the
— following data:

< N=25, ¥YX =125 ,YY =100 ,¥Y X2 =650
YY2 =436 & Y XY =520
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- -Used For Relation Between
Qualitative Characters

-Level of agreement between
two judges
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Find Spearman Correlation between x and y
x: 190 185 168 175 182 180 195 170

Y: 17 16 12
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x: 10
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Find Spearman Correlation between x and y
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x: 2 5 7 5 6 5

Find Spearman Correlation between x and y
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The coefficient of rank correlation of the marks obtained by
¥ 10 students in statistics and accountancy was found to be 0.8.
1 : it was later discovered that the difference in ranks in the two
§* subjects obtained by one of the students was wrongly taken
3 as 7. instead of 9. Find the correct value of coefficient of rank

correlatlon
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Find Correlations Using Concurrent deviations
x: 2 5 7 5 6 10 12 15

7 6 4
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The coefficient of determination is used

—————————

to explain the relationship between an
lndependent and dependent varlable

®
I EENIGES the amount of change in Dependent v
Variable due to Change in Independent variable
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